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b) F(x)= qC3x) = F(x)=¢'(3x)-3 =3:9'3x)

Fo(¥)= g (4-%) = Fo0x)= 9'(A4=%) - (-1)=-19'(1-x)
B(x)- 904 )= 90 )= )= 9(4)(”
F(x)—‘” 9 (1)

A/r.4§) a) ;\C)d' 9()( 3) h(k)-aix 3)4
h'(x) rst um 3 E,,,;,,,/,r, poch pechts vevschobon

b) FO)=6in (3x) . PI(x)= 3cos(3%)
Fly) ==3 6in(3%)- 3=~ F:sin (3x)
)= - 27 cos(3x) F¥Ux) = §151m(3x)
PO (%)= ?_43 cos(3x) = 3% cos(%x)
F“)(X)'—‘ — T Sln(3><) )N?)(y):- -37-(05(%()
FE(x)= 3% 5rn(3x)
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Fdr nez4h+d, keWa b20 = F ()2 13 os(3)
Fur n= 4f +3 - 1[(6//1//\ l(_?O = f“’(X)'—‘-gn'(O![Z)() /
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